LEVEL S

7" Corner Applicator 4-701

Schematic #

Part #

Description

1

8291

Screw (8-32 X 3/8")

o117

Cone

Fa2ll

Cone Gasket

8291

Screw (8-32 X 3/87)

F921

App. Filler Gasket

1522

App. Flat Rubber

8261

screw (10-32 x 1/27)

9318

" App. Pressure Plate

D |00 [ |SH |ON |& LD MRS

/3178

Thumb Screw

10

7409

Bearing

9315

Pivot Bearing

12

9314

Handle Connector

13

9312

7" App. Gasket

14

7033

App. Filler Valve

15

7414

Valve Sleeve

16

7051

Filler Spring

17

/0350

(3-48) Lock Nut

18

8316

Valve Holder

19

8288

(8-32) Lock Nut

20

157

L atch

21

9613

Plastic Washer

22

3310

7" Applicator Body

4-701 77 Corner Applicator




SELE]

103e01Tddy Jouxo) ) 10L-¥




	4-701 7 Corner Applicator-list.pdf
	4-701 7 Corner Applicator

